Axor Citterio

Lav mixer / Mitigeur lavabo / Mezclador para lavabo

> 04/03

>07/02

@

S

> 04/03

=

>07/02

39143XX1

10303181 [14]

39147XX1

10303181 [14]

Pos. Description Description Denominacién Nr./Nr./N°
1 handle poignée Mando 39295XX0
2 seal joint Junta 97530000
3 escutcheon hot water rosace eau chaude Embellecedor agua caliente 96755XX0
4 escutcheon cold water rosace eau froide Embellecedor agua fria 96754XX0
5 escutcheon for spout rosace pour bec Florén para cafio 96756XX0
6 aerator M24x]1 aérateur M24x]1 Aireador M24x1 13085XX0
7 fixing set set de fixation Adaptador set externo 96392000
8 oring 16x2.5 Joint torique 16x2.5 Junta toroidal 16x2.5 98134000
9 hollow set screw M4x16 (2 pieces) vis M4x16 Tornillo manecilla M4x16 97663000
10 |extension set rallonge Prolongacién 96259000
11 spout 240 mm bec 240 mm Caiio 240 mm 97239XX0
12 |hollow set screw M6xé vis M6x6 Tornillo manecilla M6x6 97660000
13 |handle poignée Mando 39296XX0
14 |shut off unit left closing mécanisme d'arrét fermer & gauche Montura cierre a izquierda 96351000
15 |shut off unit right closing mécanisme d'arrét fermer & droite Montura cierre a derecha 96350000
16 |connecting thread raccord Racor 97228000

concealed item, see chap. 14 set de base, voir chap. 14 Cuerpo base, ver capitulo 14 10303181

XX = Please see page 12.1 for finish

XX = Description des codes couleur page 12.1
XX = Para el cédigo de acabados ver pégina 12.1

hansarohe

AXOR

12.7
10/2007



